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3.3 Product and Quotient Rules

Theorem 3.3.1 (Product Rule).
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Theorem 3.3.2 (Quotient Rule).
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Example 3.3.3. Use the information in the table to answer the following questions.

S ) 1 g() | g'(1)
4 37712

What is (fg)/(1)?
(€9)" = £'q + 5
Hj)'(r)= F‘[Djfr) +€(:2j'(;) =(-D7Y (D) =~ 13

What is i) (1)?
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H'(1)= (y7)2 - 7%7
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Example 3.3.4. Find the tangent line to f(z) =

2z
24+ 1

at x = 2.
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Example 3.3.5. %@Z‘ﬁﬂ = ?OX(SGK +Sx ‘/CX

Example 3.3.6. —(—) 66 r— (axh/) 66,\,)

o M, 3¢ (55 - %)

X
BQX(Z)('-") A

3
X 2

\

—

£
Example 3.3.7 %F@;_—Q@)-—-(By e {_KB‘SXB(X& ‘ZSX‘)"/())

+(32x%-28)( k)

.p:XQ jrg;( ’ZSX?‘/D
= 3% pxe” j‘ZSZxr}*U

4 0of 4



